Probl em6. 47 (a)
nezi= Integrate[ (y »Cos[omegax (t +eps)] -y xCos[onegaxt 1) "2, {y, 0, 1}]

1
ouf2)= 3 (Cos[onegat ] - Cos[onega (eps +t ) ])>2

n@Ei= Limt [% eps-0]
ouzl= 0
Probl em6. 47 (b)
nap= Limt [ (y*Cos[onegax (t +eps)] -y xCos[onegaxt ]) /eps, eps - 0]
ou4l= -onegay S n[onegat ]
nsk= Integrate[ ((y *Cos[onegax* (t +eps)] -y +Cos[onegaxt 1) /eps-%) "2, {y, 0, 1}]

(-Cos [onegat | + Cos[onega (eps +t )] +eps onega Sin[onegat | )2

Out[5]=
3 eps?

nel= Limt [% eps-0]

outel= 0
Pr obl em6. 50 (a)

= Integrate[ (2/T) xIntegrate[y*Qs[ (2xP /T) »al pha], {alpha, t, t +T/2}1, {y, 0, 1}]
Sin[ﬂ}

T
out[1l]= —
7T

Probl em6. 50 (b)

misi= Integrate[ ((2/T) xIntegrate[y*Qos[ (2+xP /T) =al phal, {alpha, s, s+T/2}]) *
((2/T) xIntegrate[y*Cos[ (2xP /T) xbeta], {beta, t, t +T/2}1), {y, 0, 1}]

4sn[22] sn[24

T T

out[13]=
372

Pr obl em6. 59
mel= Integrate[ (ND/2) *xExp[l xtauxonega] / (2xP ), {onega, -onegab, onegab}]

ND S n[onegabtau]

out[16}= P
tau



